MS20

Choyst 80| A3

A/32A

O

IOI_I_

MP MECHANICAL COMPLETE

=5 Mg

i




MECHANICAL COMPLETE

- 712 7150 St IS XS

« 7|14 74 BHi(CNC 3%, 4%, 6=, 7= H|0]) :
£5} 3 A|AH! UP GRADE 7=

» GUIDE BUSH < NON GUIDE BUSH gt

« Tl 715 AAR

« XX BARXi A& SOLUTION

- G HEY U X2 B AIAH
HAO = USER2| 2+ AtY0f CHS

NAH| o 33
. o7z 5 9}
e YHIA 4 74
NAHI ¢ FE
. o7z 5 9}
. HpiZ 49}
L ]

MAH ||| © 75
9737
SR

MBEATS

22 S+ 31

22 oS 3 1

5 7H
4 7




MEPLETE W

AlAH [V

o F

o 2JEZ 5 7H
o FH3H 4 74
o Jd2A 3M3IT 374
o MEAS

o HIHZ 4 4

Sol 2 AAHR UP GRADE

AJAE] | — AJAE[[— AJAR]|II— AJAEV

SYNTEC| YASKAWA
Controller | “Mechatro Link System

-~ -

—
| | | Suur
1
' : ' XXHIF LHE 0|2] DFE= 04 %I
Servo |y|Servo | y|Servo |y Servo |y ®£§i6?| SHT IDI 'LEEJ::K'_I
Driver [* ' ** Driver 5110 Servo Driver 4

I I I I @ 7120 AQ UNIT M%|

Servo Servo Servo Servo 717 ® Servo Driver 2}
Motor | |Motor | |Motor | |Motor Servo Motor2] A0|2] B

AMAS|  AARI  AAHIN  AAEV

7= 34 34 34




MECHANICAL COMPLETE

£ 7t8 MAB(ESISEHE)

AXHH| HAS Set 0[] 20is}

e Sub Spindle®jlA ZH 712

e Main SpindleOi|A{ Hi'H 713

o ZIXHZO| 250mm7X| 713

e Mainit SubOliX| 27}X| &= SAl 718 7ts

FH S HE 21 S= x| 7HE

STOCKER UB SPINDLE X X7 A
e 22 3 717 ;;,Z
| : N cl £+ ROBOT
i { : | :I 'i;/ '\_”l f.fi
A e W
o I:\,¢I
PUSHER/ _H \_} M| L\/ ,-J
x|

" PUSHER

t= ROBOT 3HE/

ot ATNE 1A A

Ciget XS} &x|
e SWING ARM TYPE LOADER
(Z|Ct loading AlZt, TOOL POST £ Loading)
e AIR CHUTE TYPE LOADER : A4 ZxI2&
(Z11% Loading System, TOOL POST X™ Loading)

BARXH THEX{ HE LAYOUT
HCP—900M HOLE #175 350,00
PCD : @215 M10 NUT 83 FORGING
875 = _m Vi
< =11) 375 l _l iy 7
PUNDHING PLATE 93, — | | ms== g
@ == - B W3 4 }
§l | - | = Py f
S Cmer ” i BARFEEDER AR
T/ 1 I 45000 / /
1147,00 T =] = / /
1048,90 1 =3| £= =
=z] = ) 7 7
{o I ol | (=l _k2 — g J |
3
= $ = 196,00
1




MEPLETE W

7|1H TYPE et SYSTEM

e DIRECT DRIVE, SPLINE DRIVE, NON GUIDE BUSH
XI+20| Bt

e BARZXH otXX{ HE
o XIX§ 7}2A|0f= NON GUIDE BUSH &

DIRECT DRIVE GUIDE BUSH

STROKE : 80(MS20A) I H 2

BELT TYPE
GUIDE BUSH

rok

bEdy - ihed

SPLINE DRIVE GUIDE BUSH _
STROKE : 320(MS32A), 200(MS20A) il

NON GUIDE BUSH




MECHANICAL COMPLETE

guidd B A x| LT R AMAH(SS S8S)

22X} 10 0|32 Class 78
I dt=E Haue +0.002(24A12hH
pk 1.67 25(3X1 0.057|%)

C

R Rl

1T Y2E 78S =8, 0I5 2= ERRORY 28y 2

A|AEI 22X
BRI IER| | xiey =
(XIS 4H) S
\ PLC e
- B 2t ALt
7|27 DATA /’
ZIHA|ZE COOLANT 2,

SEE "Y, 7|AH| 25 2%, etc

XS FLOW CHART
XERAX YT @F 70| UH 8F
257%7| M%
23 Ilﬁ%t e
ESHA _ ammy _ MEEHUT
@=ay) § o £y
INO

7|H &3
DATA

V By

+

2l

I_

-

0|5A=| 0|5Az]
+HH -HH




MEPLETE W

MS20A AIAE
A o Ol o
s AMEE MS20A MS32B
NC Controller Syntec+Yaskawa Servo | Syntec+Yaskawa Servo
Aoy 7133 mm 220 232
71As ZEAER2I(MZHY M II0|E) | mm 80 oUS
FEAEZJ(QEEA SIHZI0[E)| mm 210 210
ZFEAE2I(AZ2IQI FH7I0|E)| mm 210 210
R 7H 5(8) 3(5)
il £ &4337| mm 12X12 16X16
Chi e 7h 4 4
HEZA(nYs2HED) Z|0f E2YSH mm 210 213
Z|CH BT s M8X1.25 M12X1.75
= 74 3 2
| EEYSH mm 26 26
FT3F Z[CH Ef S M5X0.8 M5X0.8
SHIY Kw 0.5 05
RPM RPM 5,000 5,000
SDEIH Kw 3 5.5
== 8|F4(MOTOR DRIVE GUIDE) | RPM 10,000 8,000
3|84 (AZ2101 047§ GUIDE) | RPM 8,000 7,000
3|%4(DIRECT DRIVE) RPM 15,000 =
SHIY Kw 15 15
SESER 3|1/ RPM 8,000(10,000) 8,000
7133 mm 220 232
ZpHek 74 4 3
WSS 70} c2zsa i o7 o7
|0 BT S M6X1.0 M6X1.0
=1 m/min 32 (X1:24) 32 (X1:24)
YLD KVA 15 kVA 20 KVA
71437 mm 870X1550X 1600 870X1550X 1600
=¥ kg 2,200kg 2,300 Kg

XISl 5 BaE Al 717 A0| BFE + ABUL.

MS20A Layout

1048

193545520

A

50

=

|

B

S B 4

1820

e

r m.m =

el & - I—L L
\ @ =33 50 i s 260
MS32A Layout
J 3‘ ﬁg—@
| l==lo
J 1B .

g i
S S

284 2108 mm
(Y H mm

AOmm - 1300 mm




MS32A AFUYE

Ap2F : L=k DHEpH
= ANEE L MS32A MS38A MS268B
NC Controller Syntec+Yaskawa Syntec+Yaskawa
o) 7+ mm 232 @38 226
7IAsH =% AE23(QEA SFII0S) | mm 260 260 260
FEAEZI(AZQI SHMIPIE) | mm 260 260 260
omma :M;L;;' 7h 5(8) 4 | 6
= mm 16X16 16X16 12X12
RS 2 4 4 4
HAZ(DHSeHE) Z|0f CHASH mm 213 213 210
Z|H E LS 3 M12X1.75 M12X1.75 MBX1.25
S i 3 3 4
Z|H EYYSY mm 210 210 210
s+ Z|CH NS M8X1.25 M8X1.25 M8X1.25
SE{IHY) KW 1 1 1
RPM RPM 5,000 5,000 ' 5,000
DE|TI} KW 5.5 5.5 3.0
F== 3| H-(2E A Guide Bush) RPM 8,000 8,000 10,000
3| H4=(Spline 24| Guide Bush) RPM 8,000 8,000 8,000
MEHATIS SEIRE KW (2.2) (2.2) 15
=P R RPM 8,000 8,000 8,000
53 mm @32 @38 @26
eI _ S75Y M 4 3 5
Z|CH EEESH mm @7 @7 @7
Z|H Ef LS MBX1.0 MBX1.0 M6X1.0
B 0838 m/min 32(X1: 24) 32(X1: 24) 32(X1: 24)
ML KVA 20 kVA 20 kVA 15 kVA
v Eb] mm | 970X1650X1700 | 970X1650X1700 | 970X1650X1700
=g kg 2,900kg 2,950kg 2,850kg
KI|H S s S lall 21H A0 BFE 4~ QlsLCH
BERAE Meypaz
1. &= CHUCK 1. IIEZH|0|
= A1'='¢._E CHUCK 2. Moo imps ZEX| AR
3. ALE MU FLIE(F= & MEALS) 3. H} I
4, §E|-E.| 710|1E &4 4. 937C Qol=Ezo
5. 5742 oA Hr0|§ e 5. & ZH[0]0f
6. 4742 ID 378 2|8 24 ECELES
7. SYEX| 7. 188 710|1E B+
8. AIS=&HX| 8. XI5 A3} ZX|
0 ZiRUS 9. 54 52
10. {2l ATS C= MO 10. FANUC CNC Controller
11. 3MS 11. B W4 M Jj0|E
12. CROSS DRILL 37H(0H& &) 12. SPLINE 24! )™ 710|=
13. BAIR S & 4| #X] 13. ™ S'-|I'|"-'?(27H)

. HHI| O QIE{HO]A

HIZ3 M)

www.meplete.com
T.02)578-5460 070-8680-8420 F.02)578-5462 e-mail:

2 425-834 Z7|T OHARA| IR ME2 146HZ 9(AZE)

. sales@meplete.com



